. VCE & PDF https://www.pass4itsure.com/cwdp-304.htm|
g 2024 Latest passditsure CWDP-304 PDF and VCE dumps Download

PassditSure.com

CWDP-3049%As

Certified Wireless Design Professional

Pass CWNP CWDP-304 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/cwdp-304.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CWNP
Official Exam Center

After Purchase

Guarantee

Free Update SRTISFACTION GUARANTEEp

Satisfied Customers

Q00O

Latest CWDP-304 Dumps | CWDP-304 Practice Test | CWDP-304 Braindumps 1/3


https://www.pass4itsure.com/cwdp-304.html
https://www.pass4itsure.com/cwdp-304.html
https://www.pass4itsure.com/cwdp-304.html

VCE & PDF https://www.pass4itsure.com/cwdp-304.htm|
a 2024 Latest passditsure CWDP-304 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

For an antenna 35 dBi of gain is needed. What antenna type should be used to achieve this gain? Response:
A. 4 dipole

B. Yagi

C. Dish

D. Horn

Correct Answer: C

QUESTION 2

What commonly causes a client-to-AP link imbalance?

A. The client\\'s antenna gain is lower than the AP\\'s antenna gain

B. The client\\'s transmit power is significantly lower than the AP\\'s transmit power
C. The AP\\'s transmit power is significantly lower than the client\\'s transmit power
D. The AP\\'s antenna gain is lower than the client\\'s antenna gain

Correct Answer: B

QUESTION 3

An amplifier has a 1 dB compression point of 32 dBm and a gain of 20 dB. Which is the highest average input power
shown here that would be safe to operate a 24 Mbps 802.11g signal so that spectral regrowth is not a problem?

Response:
A.5dBm
B. 0 dBm
C.5dBm
D. 10 dBm

Correct Answer: B

QUESTION 4

While performing a validation site survey, you realize that overlapping channels are being used on the 2.4 GHz bad due
to the automatic channel assignment algorithm of the WLAN infrastructure.
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What should you do to prevent this?

A. Reconfigure the network to use static channel plans because automatic channel assignment algorithms are all
broken

B. Purchase and deploy new APs from a different vendor
C. Reconfigure the automatic channel assignment settings to use only channels 1, 6, and
D. Leave it as it is; sometimes using all 11 channels in 2.4 GHz gives the optimum performance result

Correct Answer: C

QUESTION 5

If the amplifier in Question 4 has a noise figure of 10 dB but a gain of 0 dB, what is the total noise figure of the cable,
amplifier, and filter in series?

Response:
A.75dB
B. 16 dB
C.10dB
D.70dB

Correct Answer: A
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